Specification:

Action

Double acting with magnetic piston

Series

AB

Bore

26, 10, 216

Operating fluid

compressed air

Operating pressure

0.7Mpa(7kgf/cm?)

Proof pressure

1.05Mpa(10kgf/cm?)

Piston speed range

50~700 mm/sec

Temperature range -10°c~+70°C
Cushion Bumper
Lubrication Not required or use ISO VG32

Stroke tolerance

+1.0
-0

How to Order:

S oo e o o

Series Bore Stroke Mounting type | Reed switch | |SW|tch quantity |
[
AB Standard type 26 15~60mm LB Bracket s MT-22: 1:1PC
M‘ 10 15~150mm ' N DC/AC 4~220V 2:2PCS
?M 216 15~200mm o
FA Flange\ )
ABB Trunnion type \
: = =
= T Hanger v
,..pﬁ.. LB
il
e
ot
I Stud a-*’;
Fa ﬂ
Y Clevis
Cylinder Weight Table: Unit: g
Type \ Stroke 15 30 45 60 5 100 125 150 175 200
AB 6 225 | 245 | 26,5 | 285 - - - - - -
AB 10 30.5 | 345 | 38,5 | 425 | 46.5 53.2 59.9 66.6 - -
AB 16 63.5 | 705 | 77.5 | 845 | 915 103.2 114.9 126.6 138.3 150
ABB 10 32 36 40 44 48 54.5 61 67.5 - -
ABB 16 72.5 79 85.5 92 98.5 109.5 120.5 131.5 142.5 153.5
Accessory Weight Table: Unit: g
B Bracket Flange Hanger | stud Y Clevis
(LB) (FA) (T) () ()
26 8 -
210 8 55 38.5 15.5 23.5
216 19.5 13.5 58.5 24 20




Internal Construction:

o AT T
{ 1] _ _ _ _ A
\ - !
A
Part lists:
HO Description Material Criyr HO Description Material Crtyr
Front end cover Anodized aluminium allay 1 Mounting screw Aty 1
8 | Rear end cover Anodized aluminium alloy 1 1] Hex screw ==41 2
a Barrel Stainless stesl 1
Pistan rod Stainless steel 1 Seals List:
a Piston Brass 2 [ | (7 ] (4 ]
ioti Rod I | Pist 1 | End
9 Rod sesl NER ; Bore'Description SEa 110N &3 n S:aﬂ;'ﬂf
@ | Piston seal MBR G - DVR 3 DY B2 M 432
e SEEIES E=ITE U R { w10 DR 4 DYP B2 SM 82
@ | End cover seal MBI < 16 DYRS | DYP1Ex2 | SM12x2
im Cushion FLI 2
External Dimensions:
» Standard type: AB 6 < [
» Bracket (LB} AB Bx[JILE
|
i
H T - - =
D 0 ] L —




External Dimensions:

- Flange (FA ): AB 10 X [ ][] FA

2-4.5

14

.Y clevis (Y):AB 10X [J[JY

M4x0.7dp8

e

[QV]

|
012

AT 777y
i

71, el

+I'stud (1):AB 10 X ][]

M4x0.7

M8x1.0 |8

Sensor

MT-22

Mounting band

8 | 2-M5x0.8

M4x0.7

(Inet) A

/
@ /
/
/
/
/
/b

4>TL<7

74+ST

M4x0.7dp8

—t

—ATr

L LT A

12

7 21

MBxL.O | 2-M5x0.8 5
\\WL (Inlet)
RN
1 Wil _ _ _
5] 7 | 125 24+ST )5
- }
2 46+ST
MBx1.0 | 8, 8, 2-M5x0.8 5
\\# (Trlet)

46+ST

2-M5x0.8

(Inlet)

Z




External Dimensions:
« Trunnion type: ABB 10 X [ ][]

12.5 24+ST 225

+0.03

2-Mbx0.8 18 233 oin

(Irlet)

M4x0.7

7 A -
R B B N - o
L I [ 1 <o}
~—

—5

LN
. ~+01

« Trunnion bracket (T): ABB10 X[ ][] T+Y
ABB 10 X[ ][ ] T+l

Y dlevis )
96+ST

82+ST

Pin Snap_ ring

ol

x socket head screw

|

| ,

| 96+ST M4x10L
|

Y clevis
125+4ST

82+ST Hex socket head screw
M4x10L

an
A
ﬁ
e b
GRS
\JO\/

&
|
I

|

T

T

[

‘ 125+ST
\



External Dimensions:

Sensor

MT-22 Mounting band

M5x0.8 M10x1.0 | 9, 8  2-M5x0.38 EE% / 5
&5 WL (Trlet) \

764ST
- Bracket (LB): AB16 X[ ][ |LB

B MBx0.8 M10x1.0 9 , 8 , 2-M5x0.8 5

N \\WL (Inlet)
N |
5 =HEHE - -

)
-
o
,+.
i

- Flange (FA ): AB 16 X [ ][] FA

2-Mbx0.8 5

(Irlet)

10

.Y clevis (Y ):AB 16 X (][] Y

2 Mox0.8dpl1 zh

[T - I
Lo ; ! L_J‘
a 77 .

2-Mb5x0.8 o)

(Inlet)

48+4ST

- I'stud (1): AB 16 X[J[ ]|

M5x0.8cp8 25

2-Mbx0.8 5
‘iIH\%f:}

Dl;‘
o
b
[~
Sans
[A‘ “]
|

T

@5 / 14

f
Zmi
[

11 42

5

90+ST




External Dimensions:
« Trunnion type: ABB 16 X [ ][]

13 2h+ST

M5x0.8 15 2-M5x0.8

AN P N
(Inlet

[AEIA

=
¢§
A
|
|
Q\

86+ST

94+ST

« Trunnion bracket (T): ABB16 X[ ][] T+Y
ABB 16 X[ ][ | T+l

Y clevis
100+ST

&6+ST

Pin Snap  ring

I\
o

T
ﬁ

S ] AN

MBx10L

104+ST

Y clevis
1354ST

86+ST Hex socket head screw

MBx10L
B
B

1
50.8

S
~

[ stud [ stud]

qiﬁ hp
]
N

. ) : ‘}" ;w:,f
VY /i%jif:i%igJ ‘ #5.5thru hole




	006.pdf
	�¶�±  1


